MAT 011, Linear Equations in 2D, Part 2 (3.3)

1. For each of the

Name

graphs below, list all the x- and y-intercepts.
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2. Graph each line below by plotting intercepts. Recall, |
the x-intercept is (x, 0), and the y-intercept is (0, y). . -
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3. Doalllines have an x-intercept? Do all lines have a y-intercept?
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4. Parallel lines doP’t intersect. Below is a graph of x = —5 Draw a line parallel to this line that
e

goes through the point (1,0). What is the equation of the line?
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5. Below is a graph of the lines y = 2x + 3 and y = 2x. What|do you notice about the equations?
Are the lines parallel?

|

. Samra.
~fhe i K arve




